Multiplying a Monomial by a Trinomial (1)
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Simplify each expression.

4yt (—8y* — 8y — )

~Of (65 +4f" — 6/°)
—99(—94° — 8¢* + 69)
—8p*(—5p* — Bp® + 4p)
99(—5q" + 8¢° — 7q)
—9m(5m* —m?* — m?)
—95*(—65> — 5% + 9s)

4h°(—3h* 4 5h* — 9R?)

45°(s* — 5s% — 85%)

- 5R%(h® — 3R 4 Th?)
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Multiplying a Monomial by a Trinomial (I) Answers
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4yt (—8y* — 8y — )

= —32y% — 329" — 20y

—9f (=6 +4f" —6f°)
= 5417 — 36f% + 54f7

—99(—9¢° — 8¢° + 69)
= 81g* + 72¢° — 544

—8p°(—5p° — 5p” + 4p)
= 40p° + 40p* — 32p°

9q(—5¢° + 8¢* — 7q)
= —45¢* + 72¢° — 63¢°

—9m(5m* — m? — m?)

= —45m° + 9m* + 9m?

—9s5%(—6s* — 5% + 9s)
= 545" + 95° — 815°

4h°(=3h* + 5h° — 9h?)

= —12hY + 20h® — 36R7

45°(s* — 5s® — 8s?)
= 457 — 20s% — 3257

- 5R*(R® — 3hY + Th?)

— 5h7 — 15h°% + 35A°

Simplify each expression.

Math-Drills.com




